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a—F fn Stk | Bk (kg) %8 (F) = i il PE (A7)
Y3011 BAF () 61 17, 885 432 324 76 | B A 61kg
39630 FEwo~A ¥ 6 1,026 70 70 32 B 205K
31900 X 5 9, 396 2, 160 2,160 1,620 &M Skg
31900 X 1 1,426 119 119 119 | B 1248
34100 K 76 10, 926 43 27 171 &M 3TTA
34200 K 9 972 108 108 108 | &M 9fA
34500 B —= 13 1,987 173 173 108 | B 13kg
34500 B —= 47 10, 315 54 39 39| BN 2364%
34571 N7V (FR) 5 1,685 65 65 39 B 3014
34573 RFVUH (FL ) 1 416 59 59 59 | BN 7{&
Y3033  ZZHAAL 248 36, 315 238 65 65 | 5 248kg
Y3044  ELFE (B 10 1, 080 108 108 108 | & ™ 10kg
36600 7-ENRX 50 12, 960 270 270 248 | BN 50kg
34930 LA 40 7,727 65 65 32| B 1334
34980 ~bHE 4 378 43 27 11| BN 144K
35940 AEEIEAE 211 86, 331 540 410 270 | BN 211kg
34800 < 5 1 86 11 11 11BN 8Ny 7
34800 FB< 5 63 43,913 86 70 54| BN 6341 > b
36320 FHJIIE L 83 18, 171 302 302 54 | BN 83kg
36340 B LN RHE#E 73 26, 071 486 432 108 | BN 73kg
37600 A x 9 A 3 3,931 1,404 1, 404 1,404 BN 3kg
49470 RNy g T A—Y 50 52, 250 162 36 76 BH 49617
71150 LIT 2,797 76 76 11BN 565
53101 E L KR 1 702 1, 404 1, 404 1,404 | BHN lkg
30100 72\ A M 125 16, 848 108 108 108 | JEigiE 1567
30300 A& 70 11, 772 1,728 1,728 1,620 | &2 T —2
30300 A% L 60 17, 064 3,024 2, 808 2,808 | Ha 64— A
30600 ALAZ A M B 216 216 216 216 | R 14— %
31100 B3 2L 150 6,696 864 648 648 | EEF 1047 — %
31200 [LHE3E 4 1,512 76 76 () 2048
33500 BT A 1 108 22 22 22 | 18 548
33810 FHAHE 4 1,512 76 76 76 | FER S 2048
31700 %y 200 20, 520 1, 080 1,080 864 | At 204 — A
31800 IEHNAE 5 4, 050 162 162 162 | BEES 2548
31950 HiAax L 6 1,512 756 756 756 | FE IR 25—
31950 HRAX L 24 6, 048 756 756 756 | E 84— A
31930 Zh¥E 6 6, 480 108 108 108 | il 6048
32800 25 10 1,166 27 5 1 Ei 1008 |
34300 729 2L 20 4,752 1,512 1, 080 1,080 £ 44— A
34300 729 2L 30 8, 208 1,458 1,296 1,296 =% 64— R -
34400 h= h L 8 4, 320 2,160, 2,160 2,160 REA 24— A
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S Eh | PER (kg) M) | mm | swm wkm | E M (HLAL)
N M 12 7,128 2,376 2,376 2,376 REA 34—
3=kt 2S 5 4,147 173 173 173 | A 24,5y
BRI 40 8,316 1,080 1, 080 S92 EIRE 87— A
BRI 2L 20 3,888 972 972 972 HEAR 45—
I 10 2, 700 2, 700 2, 700 2,700 REA 1r—2A
|E— | 2L 6 1,215 32 16 16 | K4y 604%
TR — 2L 2 972 972 972 972 | K4y 1r—2A
Jigioy 2 L 30 5,184 1,728 1,728 1,728 HEAR 3 —=
TmERE L 80 25, 056 6, 264 6, 264 6, 264 | L 45— 2R
FERE L 60 10,368 3,564| 3,564 3,240 & 3 —2
Ly FeERE ; 2 864 432 432 432\ 7 AU A 2kg
LxoM i 2L 4 1,728 1,728 1,728 1,728 @ 17— 2
LH R 6 1,620 1, 620 1, 620 1,620 EEF 17 —2A
La R 22 5, 281 108 76 70 E% 66/
Y 0 972 486 486 486 | fa i 245
BV 75T — 1 562 140 140 140 JbifpiE 4#
Ty ol — 2 713 119 119 1197 AU 6ff
E LW 6 4,536 76 76 A 603 7
~HE 12 1, 296 32 32 32 IR 4074
AAf—ha—r M 43 7, 258 54 49 49 | K4y 1444
3 4 2,160 108 108 108 | & [if] 204%
RN a2 16 1,296 54 11 11 RS 804%
it 1 864 86 86 86 | K%y 1037
BHIE 1 5, 940 648 648 540 | K4y 1073y 7
ZDEH 15 2, 808 22 17 17 | Elg 1504%
SRLOULHE 3 1, 080 43 32 32 1& [ 3048
EWE 3 1,296 43 43 43 | B I8 3048
N AT L 15 5, 940 2,160 2, 160 1,620 BEIRE 3T —=
ET ‘M 3 1,080 378 378 324 | K4y 3y —A
E/ /30 75 11, 448 864 | 756 756 K& 154 — 2
BlESE S 2 2,246 281 281 281 1B 8%y 7
FE72 L 4 7,517 626 626 626 | 1@ 123y 7
T xT 2| 1,728 216 216 216 | & [ A4
VavA/EYS L 2| 864 864 864 864 |BE 17 —2
XYL RAT — 1 — 20 7, 668 864 756 756 | fE 104 — 2%
Hh 5 1, 836 1,836 1, 836 1, 836 | KB 17—
A VNSV 18 12, 528 216 216 194 | K% 6075 7
T 54 7,776 1,080 756 648 K4y 101#
~ = 6 9, 396 810 810 756 |EIR B 1218
- AR 2,399 640, 805
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